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SOCIAL STUDIES, Paper-1 & i
(English Version)
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o ur sections in the question paper.
ére is internal choice in Section - IV,

In Question o, 3
* 3.- both A
separately, and B (India map and World map) should be answered
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Section -1 12x1=12
Note: (1) Answer all the questions.
(2) Each question carries 1 mark.

1 Give any two examples for service sector activities.

2.  ldentify the wrongly matched pair.
. Canara coast — Tamil Nadu ..
4 Malabar coast — Kerala
» Utkal coast = Odisha
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— Mention any two human activities that cause Global warming. 1,¢° J 1. T
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Based on the relationship between the items In the first pair, fill up the blank In the

second pair. | L A
River Krishna : Mahabaleswar : : River Narmada : _L-ag i Alend =56

WhatwastheimmediatecausefortheWorldWar!l? VALt b AN ) 84 8 g
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FL Whi i
. htchFDf the following aspects was not associated to Jawaharlal Nehru ?
ormulation of Panchsheel Principles
Playing a prominent role in Non Aligned Movement
,( Nationalisation of banks

8 W )
hat two words were later added to the Preamble of the Constitution of India 7 £ : '

9. Name the last British Viceroy for India. | o L2 ¥ f |

10. ;
What was the speciality of Andhra Pradesh in respect of the formation of linguistic

states ? ( ) PR ORIy o T e b T T
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11. Name any two states the Tropic of cancer passes through in India. & P i L.;J’.
¥ X : \\ e r..-
12. Based on the information given below, answer the question that follows
[State | Haryana \ Punjab ]l Kerala |

[SexRatio | 879 | 895 | 1034 |
Question : Which state has less discrimination towards women 7

2 A

Section =1l 8x2=16

Note: (1) Answer all the questions.
(2) Each question carries 2 marks.

13. Differentiate between weather and climate.

14. What is Per Capita Income 3 \What is its limitation as a development measure ?

15. What is meant by ‘economic liberalisation’ ?

16. ‘Coalition politics lead to unstable gﬂvernments'. —~ Comment.

$7. 1In commemoration of which event is Indi2 celebrating the Constitutional Day ?

18, Prepareany two slogans on World peace.
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Based on the map given below, answer the questions that follow :

Area Under Japanese
Control 1942

USSR

JAPAN i
PACIFIC OCEAN
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() Name any two countries which were under Japanese control.

(i) What s the present name of ‘Dutch East indies’? | wAfOV

(i) During which world war did Japan occupy these areas [
(iv) Name the smallest continent in the world. — )/ !
Section -1V

Note: (1) Answer all the questions.
(2) Each question carries 8 marks.

29, Describe the monsoon mechanism in India.

OR

Explain the differences between Eastern Ghats and Western Ghats.

30. “There were the seeds of World War 11 in the treaty of World Wa

with this statement ? Justify your answer.
OR

“Due to various reas
difficult.” - Comment.
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5x8=40

r I” — Do you agree

ons, the conduct of first general elections in India became



31.

32,
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Gender bias is stjll prevailing in India in some form o another. Discuss the reasons

and solutions for this,

While service sector has grow
grown, all service _
well. Explain, sector activities are not growing equally

Based on the information given below, answer the following questions :

= \
Proclamation of the Weimar | » Nov. s,

& Republic. .

@ N\
Hitler becomes Chancellor of |« January
Germany. 30, 1923
\. J::
(" Germany invades Poland. Y, o.—,
Beginning of the Second World | * a5
\ War. 3

s ~
Germany invades the USSR. |* Juee %
\L : ::

=
Mass Murder of the Jews s June

begins. 23, 1941
o1 7

World War. 1841

~
Eha United States joins Second|  Dec.8,
=,

2
Soviet troops liberate e Jan, 27,
Auschwitz. 1946
_J
"
[ Allied victory in Europe. | * ¥o3e™
J

When and in which country the Weimar republic was established ?

. What was the year of ‘Enabling Act’ ? What was the result of it ?
Expand USSR,

'iE.was the ‘holocaust’ ?
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Analyse the following graph : =

USSR/Russia

35,0000 United States

Number of Warheads

1945 1955 1965 1975 1985 1995 2005
Year

US and USSR nuclear stockpliles

33. (A) Locate the following on the outline map of India.
(1) v River Indus
(2) - Mumbai
(3) ~ Arunachal Pradesh

(4) Mount Everest

OR

(5) ¢ Lakshadweep
(6) Deccan Plateau

(7) Aravall mountains

(8) Thar desert







